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JEAT SN K4 it GROSS| HDCP | NET | crossit = JIEAST ZINFE K4 H [ 75 | GROSS| HDCP | NET |crossif 3z
157K B 41 45 86| 15.6 |70.4 3 51| KHE IEF% 48 46 94]18.0 |76.0
2| A 40 40 80| 8.4 |71.6 YELE IS 52| A F 43 38 81| 4.8 |76.2
3\ AlRE AL 43 49 92/20.4 | 71.6 347 53| /AH Ft 45 48 93| 16.8 | 76.2
41E8H N 38 39 77 4.8 |72.2 A 5410 sk 49 44 93| 16.8 | 76.2
50114 — 41 40 81| 8.4 |72.6 5\ 55 K I3z 44 49 93] 16.8 | 76.2
6|AE JEH] 40 41 81| 8.4 [72.6 6 {ir 56| AT BHPE 52 46 98| 21.6 |76.4
TR HR 49 44 93/20.4 | 72.6 77 57|11 == KER 38 41 79| 2.4 76.6
8l FI— 46 53 99/26.4 | 72.6 8 {ir 58|¢n AN FEB 40 45 85| 8.4 |76.6
9 Bk 45 41 86| 13.2 |72.8 9 {ir 59| F A Eifi 47 44 91| 14.4 |76.6
10 B2 )2 SeHst 47 51 98/ 25.2 | 72.8 1 047 60| ik 45 52 97/20.4 |76.6 FEE
11 66 5 43 42 85| 12.0 | 73.0 61/ BAT 49 48 97/20.4 |76.6
12|4)1 HE 40 45 85/ 12.0 | 73.0 62| 48 49 97| 20.4 | 76.6
13| K38 1EZ 47 44 91/18.0 | 73.0 63| 1 EHET 53 56| 109]32.4 |76.6
14\ Nk Fnge 49 42 91| 18.0 [ 73.0 64/ & 41 43 84| 7.2 |76.8
15| R & 46 51 97124.0 | 73.0 65| B fit— 41 49 90| 13.2 |76.8
16 7T F5 kst 39 45 84| 10.8 | 73.2 66| Kk EH— 52 44 96/ 19.2 |76.8
17| X X 45 45 90| 16.8 | 73.2 673 HEF 51 45 96/ 19.2 | 76.8
18| UTRE FEME 50 46 96| 22.8 | 73.2 68k 0 ET 53 49|  102]25.2 [76.8
19\ H FlAs 41 42 83| 9.6 |73.4 69| A K FEF 42 41 83 6.0 |77.0
20| fEH 42 41 83| 9.6 |73.4 RE TOIKH = 41 42 83| 6.0 |77.0 HEE
21 | B%Ey F5 e 43 46 89| 15.6 |73.4 T1ART Bl 41 48 89/12.0 |77.0
22| 75 F|H 47 42 89| 15.6 | 73.4 72|48 EH 46 43 89/12.0 |77.0
23| H s YEIG 49 46 95/21.6 | 73.4 73| R FniE 49 51 100]22.8 | 77.2
24|52 EH 43 45 88/14.4 | 73.6 741U H fHE] 44 43 87| 9.6 |77.4
25 KB B H] 46 42 88| 14.4 | 73.6 75 B A 43 50 93|/ 15.6 | 77.4
26| RA HER 39 41 80| 6.0 |74.0 T6|FEvR FSME 47 45 92|14.4 |77.6
27\ RN B 42 44 86| 12.0 | 74.0 e 46 46 92| 14.4 |77.6
28|/l #B— 48 44 92/ 18.0 | 74.0 78 IRER FA 44 47 91]13.2 | 77.8
29 KK B KER 42 49 91| 16.8 | 74.2 79| SUHE 49 42 91| 13.2 | 77.8
30|EK Fnz 42 49 91| 16.8 | 74.2 TEE 80 JHYs F & 42 49 91| 13.2 | 77.8 RE
SRS 42 48 90| 15.6 | 74.4 81 #EAS FuyR 48 49 97/19.2 |77.8
32| K8 BHE 51 45 96| 21.6 | 74.4 82|yt o 49 47 96/ 18.0 |78.0
33/5E B 47 41 88| 13.2 | 74.8 83| MEEy K Bh 58 50/ 108]30.0 |78.0
34| HWI HERS 42 46 88/13.2 | 74.8 84 |8 K ELRR 39 44 83| 4.8 |78.2
35 P& 44 44 88| 13.2 | 74.8 85| H fdt— 46 43 89/ 10.8 | 78.2
36|11 @+ 46 48 94| 19.2 | 74.8 86 | Mide 1~ 37 51 88| 9.6 |78.4
37 52 Kl 46 48 941 19.2 | 74.8 87 M)l B 49 45 94| 15.6 | 78.4
38| FE W 47 47 94| 19.2 | 74.8 881V A VS 48 52| 100/ 21.6 |78.4
39|)11y ZsHE 53 46 99| 24.0 | 75.0 89 MEA il 45 48 93/ 14.4 | 78.6
40 E & 50 49 99/ 24.0 | 75.0 HE 90| =iim e 48 45 93| 14.4 | 78.6 HE
41 14K TR 42 44 86/10.8 | 75.2 91| Eks HIAT 49 50 99/ 20.4 | 78.6
42|21 1EAD 39 47 86| 10.8 | 75.2 92|tk WNIE 54 51| 105|/26.4 |78.6
43| f4 1 Foi 48 44 92| 16.8 | 75.2 93| A K& 45 52 97/18.0 | 79.0
44 B Fuzz 48 56| 104]28.8 |75.2 94 | Bf ~ £ FEE 49 54/ 103/24.0 | 79.0
45 fHH st 46 45 91| 15.6 | 75.4 95| % HE Fisl 44 46 90| 10.8 |79.2
46 | [BiRs ARZE 38 40 78| 2.4 |75.6 96 % H 48 42 90| 10.8 | 79.2
47 ok K5 47 49 96/ 20.4 | 75.6 97 KA BHE 50 46 96/ 16.8 |79.2
48 KN Btz 43 46 89/13.2 | 75.8 98| 41| FE— 60 36 96| 16.8 | 79.2
49|\ 5ETR 47 48 95/ 19.2 | 75.8 99| Il H LR+ 54 54 108/ 28.8 [79.2
50 | FIRy Er5L 43 39 82| 6.0 |76.0 Y 100 fB A f3% 56 45 101]21.6 |79.4 =1
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JIEAE SINE K4 W =[ P8 | GROSS| HDCP | NET | crossiit ik [/=thva SN K4 W [ P8 | GROSS| HDCP | NET |crosshiafi ik
101 = #K 47 47 94] 14.4 |79.6 1513k & &+ 60 60| 120]33.6 |86.4
102] 1@ #R54 48 51 99/19.2 |79.8 152 Jf@H A 54 53 107]20. 4 | 86.6
103 |3 #74h, 48 51 99/19.2 |79.8 163 5B HE 56 57 113]26.4 |86.6
104 K% 182 56 49| 105/ 25.2 | 79.8 154 A8 58 54| 112]25.2 |86.8
1057k %7 B 44 48 92/12.0 |80.0 155/ R 7501 46 53 99/ 12.0 |87.0
106 - 3% 43 49 92/ 12.0 |80.0 156/ [ H # — 55 67 122]34.8 |87.2
107|F 1 IE 56 54 110] 30.0 |80.0 157 A 5L 57 46| 103]/15.6 |87.4
108 | ARER FntH 55 48| 103]22.8 [80.2 158 K1l k=] 58 55 113/ 24.0 |89.0
109 |f#c Z<Fn 52 51 103] 22.8 | 80. 2 159 |7k H ffi— 53 69| 122]32.4 |89.6
LI0[AAR &2 51 52 103]22.8 |80.2 B 160| 54T gt 68 58| 126/36.0 [90.0 FREE
11148 F BF] 47 49 96| 15.6 | 80. 4 161 |8 [T 61 66 127/36.0 191.0
L2 EE 48 54| 102]21.6 |80.4 162|581 FIE 51 59 110/ 18.0 192.0
113 KE W< A 47 48 95| 14.4 | 80.6 163|528 el 66 62| 128]/34.8 [93.2
114|[LhE HE 54 47] 101]20.4 |80.6 164/ & BEA 66 65| 131]/32.4 |98.6
115\ BR< 47 53| 100/ 19.2 [80.8 165| A ELHh 71 66/ 137/36.0 [101.0
116 {Fg 485 54 46/ 100] 19.2 |80.8 166114 EiE 68 73 141/ 36.0 |105.0
117 F EH— 48 51 99/ 18.0 | 81.0 16748 A 65 77 1421 36.0 106.0
118 5EH & 53 46 99/ 18.0 | 81.0 168| KA #th 74 69 143]36.0 [107.0 BB
11985k BE 47 44 91| 9.6 [81.4 169|854 HTE 73 75 148/36.0 [112.0
120|(FHR% AT 54 49 103/ 21.6 |81.4 RE s & NR
121 757K H— 53 50, 103/ 21.6 |81.4
122 |58 HEY 52 50, 102]20.4 |81.6
1233 )& HiE 49 46 95/13.2 | 81.8
124 ¥k & 43 52 95| 13.2 | 81.8
12576 H EH1T 41 54 95/13.2 | 81.8
126 AR & 55 57| 112]30.0 |82.0
127 Y H =8 54 51| 105/22.8 |82.2
128|101 &% 53 57| 110]/27.6 [82.4
129 ik &EA 55 61| 116/33.6 |82.4
130 /NEFH ¥+ 52 51| 103/20.4 |82.6 TEE
131 | A HkE 58 51| 109/26.4 [82.6
13285 AR ACHf 51 58| 109|26.4 |82.6
133|511 50 46 96| 13.2 | 82.8
134| —'% R3¢ 60 54 114]31.2 |82.8
135757k #EA 58 49| 107/ 24.0 |83.0
136/ ElR 49 57| 106]22.8 |83.2
137 | Y87 0 53 51 104]20.4 |83.6
138/ LIl ZEn/A 53 51| 104]/20.4 |83.6
139 @ A 51 53 104]20.4 |83.6
140 |#43% JEF] 56 54| 110/26.4 |83.6 FRE
141 | #gAT BR 54 53|  107]/22.8 | 84.2
142 |ff 2 1H3E 46 54| 100] 15.6 |84.4
143 |{EIR; Wb A 55 57| 112]27.6 |84.4
144 | FHI fd 48 55 103] 18.0 |85.0
145 | PR Fnzz 53 56 109/ 24.0 |85.0
146 | H% B 49 53| 102|16.8 |85.2
147 |BEAR S 53 55 108/ 22.8 |85.2
148 Ay XK 49 58| 107|21.6 |85.4
149 87T 3 — 62 57| 119]33.6 |85.4
150 FA [ Fni 53] 56 109]22.8 |86.2 TRE
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